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1. (A) (i)          . 14 

  (ii)      C = 
39 x

4  – x2     p = (x – 6)2  

    . 

                         

  (i) -   . 

        (0.5x2 – 800x – 400)       

2p + x = 400       (x) . 

  (ii)        2p + x = 20  8p = 20 + x .  

            ` 1 

       . 

 (B)   . ( ) 4 

  (i)       . 

  (ii)       . 

  (iii)    . 
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2. (A) (i)             
   . 14 

  (ii) (a)  Z = log (x3 + y3 – x2y – xy2),      z
x

 + 
z
y

 = 
2

x + y 

. 

   (b)  Z = 
5x + 1
y + 7 ,   z

x
  z

y
 . 

                         

  (i) (a)       . 

   (b)  Z = x5 + y5 – 5x2y   2z
xy

 . 

  (ii)      U = x1/3y2/3                            
x + 4y = 12        x  y  . 

 (B)   . ( ) 4 

  (i)  f(x) = 
3x – 2y
x3 – y3    ?       . 

  (ii)  f(x, y) = log(x + y)    fxy . 

  (iii)  f(x, y) = 4x3 + 3y2   fx  fy   x = 2  y = 3   
  . 

 

3. (A) (i)       . 14 

   12%      ` 4,360          
6     ? 

  (ii)         ` 2,420    ` 2,662 

       . 

 
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  (i)    . 

   4%    6   ` 700        

 ? (      ) 

  (ii) 5%    10    ` 2,000      

         . 

 (B)   . ( ) 3 

  (i)       . 

  (ii)     . 

  (iii)   . 

  (iv)   . 

 

4. (A) (i) (a)  y = aebx       . 14 

   (b)         x = 18  y  

   

x 7 13 16 20 21 

y 22 40 49 61 64 

  (ii)          

x 12 10 8 6 4 2 

y 6 5 4 3 2 1 

                         
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  (i)     ?       
       y = aebx     

x 1 5 7 9 12 

y 10 15 12 15 21 

  (ii)          

   n = 9, Ex = 0, Ey = 74, Ex2 = 51, Ex3 = 60, Ex4 = 411, Exy = 0, Ex2y = 708 

 (B)    ( ) 3 

  (i)  y = abx     . 

  (ii)  y = 111.67 + 10.057 



 

5.1

5.1997x
   x = 2008   y  

. 

  (iii)        . 

 
__________ 
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1. (A) (i) Discuss the effect of taxation and subsidy on market equilibrium. 14 

  (ii) If the cost function of a monopolist is C = 
39 x

4  – x2 and demand function is 

p = (x – 6)2, find the maximum profit. 

                        OR 

  (i) Write a short note on duopoly. 

   The cost function of a commodity is (0.5x2 – 800x – 400) and its demand 

function is 2p + x = 400. Final production (x) for maximum profit. 

  (ii) The demand and supply function of an item are respectively 2p + x = 20  

and 8p = 20 + x . Find equilibrium price and quantity. If tax ` 1 is imposed 

one unit of an item, then find total revenue from tax. 

 (B) Answer the following : (any two) 4 

  (i) Define demand and supply functions. 

  (ii) Define average revenue and marginal revenue. 

  (iii) Define Market Equilibrium 

 

2. (A) (i) Explain the use of partial derivative for obtaining maximum utility under 

budgetary condition. 14 

  (ii) (a) If Z = log (x3 + y3 – x2y – xy2), show that 
z
x

 + 
z
y

 = 
2

x + y. 

   (b) If Z = 
5x + 1
y + 7 , then find 

z
x

 , 
z
y

 . 

                        OR 
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  (i) (a) Define Partial derivative and Homogeneous function. 

   (b) If Z = x5 + y5 – 5x2y, then find 
2z
xy

 . 

  (ii) The utility function is U = x1/3y2/3  and its budget equation is x + 4y = 12. 

Find the values of x  and y so that the consumer gets maximum utility. 

 (B) Answer the following : (any two) 4 

  (i) Does the function f(x) = 
3x – 2y
x3 – y3  homogeneous ? If it is homogeneous, state 

the degree of homogeneous. 

  (ii) If f(x, y) = log(x + y), then find fxy. 

  (iii) If f(x, y) = 4x3 + 3y2 find fx and fy. Also obtain its values when x = 2 and      

y = 3. 

 

3. (A) (i) Define annuity and give its types. What equal half yearly payment will 

discharge the debit of ` 4,360 due in 2 years at 12% per annum ? 14 

  (ii) A certain sum of money invested on compound interest amounts to ` 2,420 

in 2 years and ` 2,662 in 3 years. Find the rate of interest and the sum 

invested. 

OR 

  (i) Write a short note on annuity. Find the amount of an annuity of ` 700 in 6 

years allowing compound interest at 4% the payment being made half 

yearly. 

  (ii) Find the present value of the annuity of ` 2,000 for 10 years at 5% 

compound interest per annum, the payment being made at the beginning of 

each year. 



MP-116 7 P.T.O. 

 (B) Answer the following : (any three) 3 

  (i) Give the formula for obtaining present value of annuity. 

  (ii) State the formula to find Sinkng fund. 

  (iii) Explain simple interest. 

  (iv) Explain compound interest. 

 

4. (A) (i) (a) Obtain normal equations to fit the curve y = aebx. 14 

   (b) Fit a linear equation to the following data and estimate the value of y 

for x = 18. 

x 7 13 16 20 21 

y 22 40 49 61 64 

  (ii) Fit an equation of second degree parabola for following data : 

x 12 10 8 6 4 2 

y 6 5 4 3 2 1 

                        OR 

  (i) What is least square principle ? Obtain normal equations for fitting linear 

equation and fit a curve y = aebx to the following data : 

x 1 5 7 9 12 

y 10 15 12 15 21 

  (ii) Fit a second degree parabola form the following data : 

   n = 9, Ex = 0, Ey = 74, Ex2 = 51, Ex3 = 60, Ex4 = 411, Exy = 0, Ex2y = 708 



MP-116 8  

 (B) Answer the following : (any two) 3 

  (i) Write the normal equations for fitting the curve y = abx. 

  (ii) If y = 111.67 + 10.057 



 

5.1

5.1997x
 then find value of y when x = 2008 

years. 

  (iii) Write the normal equations for fitting the curve second degree parabola. 

 
__________ 


